Rotary Blade Grinder Parts

llem R&R Req.
No. Parl No. Description Qty.
1 R09922 R&R Motor, 1/2 H.P. Baldor, 115 Volt 60 Hz

1 R09923 R&R Motor, 1/2 H.P. Baldor, 220/240 Volt 50 Hz

2 RB0235 R&R 6 1/2" Cord w/Molded Plug

2 H300406  R&R Wire Connector, Female

2 R300410  R&R Wire Connector, 16-14 Non insulated Flag

2 R300411 R&R Wire Connector, 14-10 Insulaled Ring

3 R300409  R&R Clamp, Cord

4  R322-3 R&R Bolt, 5/16-18 x 3/4”

5 R310266  R&R Flat Washer, 5/16”

6 R32534 R&R Lock Washer, 5/16”

7 R443106 R&R Nut, 5/16-18

8 R40063 R&R Adapter, Motor Shaft to Wheel, LH Thread

9 R3245-35 R&R SetScrew, 1/4-28 x 114"

10 R40012 R&R Flange, Whesl

11 R4710 R&R Grinding Stone, 36 Grit (Medium)
11 R4711 R&R Grinding Stone, 46 Grit (Fine)
12 R80164 R&R Nut, Adapter, 5/8-11 L.H.

13 R40052 R&R Guard Wheel

14 R300408  R&R Guard, Molor Cover

15 R40060 R&R Guard, Spark

16 R09141 R&R Bolt, Hx Hd 1/4-20 x 3-1/2"

17 R09030 R&R Wing Nut, 1/4"

18 RB0141 R&R Screw, 10 x 3/4 Hx SL Washer Hd
19 R300402 R&R Screw, 10-32 x 1/2" Button Hd
20 R40056 R&R Blade Guide

21 R40057 R&R Plate, Adjustment

22 R80053 R&R Knob, Adjusting

23 R40054 R&R Support, Adjustment Plate

24 R3256-22  R&R Flatwasher, 1/4"

25 R3253-3 R&R Lockwasher, 1/4"

26 R300403 R&R Bolt, Hx Hd 1/4-20 x 1/2"

27 R40051 R&R Base, Top

27 R4005¢8  RA&R Brace, Base

28 R40050 R&R Base, Bottom

29 R300401 R&R Switch

30 R300407  R&R Warning Decal

31 R3709787 R&R Rubber Support

32 R300404  R&R Rubber Grommet, Cord

33 R9700 R&R Balancer

Electrical Wiring Instructions

_L_.A..h—l_l.—l-.—k—h.[\)f\)m—AN—&-&—&;—A—L—A—L—L—L—L.«_&[\)M—A.h.‘h.-lk.h—k—hml\)—l-——b—k

Motor #R09922 (115V) Motor #R09923 (220/240V)

For Standard Counterclockwise Rotation: For Standard Counterclockwise Rotation:
Cord Black to Motor Blue & Red Cord Black to Motor Blue
Cord White to Motor Yellow & Black Cord White to Motor Yellow & Black

Motor Side Join White + Orange + Red
For Optional Clockwise Rotation:
Cord Black to Motor Blue & Black For Optional Clockwise Rotation:
Cord White to Motor Yellow & Red Cord Black to Motor Blue
Cord White to Motor Yellow & Red
Motor Side Join White + Orange + Black




